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1. In one of these systems, the prey are very large animals and the predators are very
small animals, such as elephants and mosquitoes. Thus it takes many predators to
eat one prey, but each prey eaten is a tremendous benefit for the predator population.
The other system has very large predators and very small prey. Determine which
system is which and provide a justification for your answer.

2. Find all equilibrium points for the two systems. Explain the significance of these
points in terms of the predator and prey populations.
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Please solve for only # 2. Thank you.
